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HALF-LIFE WORKSHEET
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1. What is rachoactw:ty’?
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3. If we start W|th 400 atoms of a radioactive substance, how many wou d remain af

one halflife? éOO after two half-lives?
after three half-lives? 5(" after four halflives? é’b

4. If we start with 48 atoms of a radioactive substance, how many would remain after

one halflife? Z‘j after two half-lives? __| _
' afterthree half-lives? ('Q after four halflives? 5

5. If we start Wlth 16 grams of a radioactive substance, how much will remain after three

halflives? __ * l(ﬂ @ '(‘;“ ,@_9 i 69 L

6. If we start Wlth 120 atoms of a radioactive substance, how man

halflives? [ E

y will remain after three

Use the following graph to answer questions 7-10.

Radioactive Decay of Carbon-14
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7. How long is a half-life for carbon-147? 5, 750 Vﬁﬂ/.g

o
l 1
8. If only 25% of the carbon-14 remains, how old is the material containing the carbon- 14’?“) ] 4 o

d 120 atoms of carbon-14, how many atoms will remain after 16,110

9. If a sample originally ha
years? |§ Qﬁoms

10. If a sample known to be about 10,740 years old has 400 carbon-14 atoms, how many atoms were
in the sample when the organism died? I [9, (") ﬂ
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